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QUESTION 1

Which statement about Cisco Discovery Protocol configuration on a Cisco switch is true? 

A. CDP is enabled by default and can be disabled globally with the command no cdp run. 

B. CDP is disabled by default and can be enabled globally with the command cdp enable. 

C. CDP is enabled by default and can be disabled globally with the command no cdp enable. 

D. CDP is disabled by default and can be enabled globally with the command cdp run. 

Correct Answer: A 

 

QUESTION 2

After UDLD is implemented, a Network Administrator noticed that one port stops receiving UDLD packets. This port
continues to reestablish until after eight failed retries. The port then transitions into the errdisable state. Which option
describes what causes the port to go into the errdisable state? 

A. Normal UDLD operations that prevent traffic loops. 

B. UDLD port is configured in aggressive mode. 

C. UDLD is enabled globally. 

D. UDLD timers are inconsistent. 

Correct Answer: B 

 

 

QUESTION 3

A switch is added into the production network to increase port capacity. A network engineer is configuring the switch for
DHCP snooping and IP Source Guard, but is unable to configure ip verify source under several of the interfaces. Which
option is the cause of the problem? 

A. The local DHCP server is disabled prior to enabling IP Source Guard. 

B. The interfaces are configured as Layer 3 using the no switchport command. 

C. No VLANs exist on the switch and/or the switch is configured in VTP transparent mode. 

D. The switch is configured for sdm prefer routing as the switched database management template. 

E. The configured SVIs on the switch have been removed for the associated interfaces. 

Correct Answer: B 
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QUESTION 4

After reviewing UDLD status on switch ports, an engineer notices that the." Which statement describes what this
indicates about the status of the port? 

A. The port is fully operational and no known issues are detected. 

B. The bidirectional status of "unknown" indicates that the port will go into the disabled state because it stopped
receiving UDLD packets from its neighbor. 

C. UDLD moved into aggressive mode after inconsistent acknowledgements were detected. 

D. The UDLD port is placed in the "unknown" state for 5 seconds until the next UDLD packet is received on the
interface. 

Correct Answer: A 

 

QUESTION 5

Refer to the exhibit. 

What is the result of the configuration? 

A. The EtherChannels would not form because the load-balancing method must match on the devices. 

B. The EtherChannels would form and function properly even though the load-balancing and EtherChannel modes do
not match. 

C. The EtherChannels would form, but network loops would occur because the load- balancing methods do not match. 
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D. The EtherChannels would form and both devices would use the dst-ip load-balancing method because Switch1 is
configured with EtherChannel mode active. 

Correct Answer: B 
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